; 4
Niet Lt Hr Np-jet Bin name Expected signal T1t" mg;/ e [TeV] Predicted background Observed
[GeV ] [GeV] 1.5/0.1 1.2/0.8

=1 LT1, HTO, NB1 0.00 £+ 0.00 041 £ 0.02 903 + 207 9

[500, 750] =2 LT1, HTO, NB2 0.00 £ 0.00 067 =+ 0.03 838 £+ 210 2

250, 350] >3 LT1, HTO, NB3i 0.00 + 0.00 067 £ 0.03 123 = 039 1
’ = LT1, HT1i, NB1 0.03 £ 0.00 015 £ 0.01 977 £ 299 14

> 750 = LT1, HT1i, NB2 0.07 + 0.00 027 £ 0.02 708 + 274 6

>3 LT1, HT1i, NB3i 0.07 £ 0.00 022 + 0.02 085 = 040 1

= T2, HTO, NBI 0.00 £ 0.00 019 £ 0.02 242 £ 096 +

[500, 750] = LT2, HTO0, NB2 0.01 + 0.00 028 + 0.02 089 =+ 0.56 2

_ 350, 450] >3 LT2, HTO, NB3i 0.01 + 0.00 024 £ 0.02 010 £ 0.08 0
0 ’ =1 T2, HTTi, NBI 0.08 £ 0.00 016 £ 0.01 361 £ 175 5
o) > 750 = LT2, HT1i, NB2 012 + 0.01 024 + 0.02 375 £ 190 2
>3 LT2, HT1i, NB3i 013 £ 0.1 019 £+ 0.01 054 £+ 035 0

500, 1250] =1 LT3, HT01, NB1 0.07 £ 0.00 018 £ 0.02 411 = 159 1

[450, 600] ’ >2 LT3, HT01, NB2i 019 + 0.01 042 + 0.02 402 + 211 0

’ ~ 1250 = LT3, HTZ, NB1 0.08 £ 0.00 0.02 £ 0.00 062 £ 0.69 1

- >2 LT3, HT2i, NB2i 029 + 0.01 0.08 £ 0.01 059 £ 0.66 1

[500, 1250] =1 LT4i, HT0T, NBI 0.I8 £ 0.01 005 £ 0.1 060 £ 051 0

> 600 ’ >2 LT4i, HTO1,NB2i | 057 + 0.01 016 £ 0.01 025 £ 0.39 0

> 1250 = LT4i, HT2i, NB1 026 + 0.01 007 £ 0.01 020 = 0.27 0

- >2 LT4i, HT2i, NB2i 095 + 0.02 016 £ 0.01 042 £ 053 0

[500, 1250] = LT1, HTO01, NB1 0.01 £ 0.00 022 £+ 0.02 052 £ 0.19 0

’ = LT1, HT01, NB2 0.01 + 0.00 055 £ 0.03 023 £+ 0.14 0

[250, 350] > 500 >3 LTT, HTOi, NB3i 0.08 £ 0.00 074 £ 0.03 032 £ 016 0

~ 1250 = LT1, HT2i, NB1 0.02 + 0.00 0.02 £ 0.01 017 = 0.16 0

o — = LT1, HT2i, NB2 0.04 £+ 0.00 005 £ 0.01 024 + 031 0
Al = T2, HT0i, NBI 0.04 £ 0.00 023 £ 0.02 028 £ 0.14 0
[350, 450] > 500 = LT2, HT0i, NB2 0.10 + 0.01 041 £ 0.02 005 = 0.06 1

>3 LT2, HT0i, NB3i 012 + 0.01 051 £ 0.02 004 £ 0.05 0

~ 450 < 500 = LT3i, HTO0i, NB1 029 + 0.01 023 £ 0.02 031 £ 0.20 0

— — >2 LT3i, HT0i, NB2i 142 + 0.02 099 £+ 0.03 015 £+ 013 0




